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A159N 1 uanIn1aiuAY y, (0),y,(0) mueailantu F = y,(1)—c uaeF, = y,(1)—¢ 1u
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UARETUABUNM I 151D h = 0.1

y:(0) y4(0) K K

-1 3 0.00e+000 8.88e-016
-0.33266628 400452809 -1.66e-001 1.67e-001
-0.17298849 3.84370509 -1.13e-001 2.47e-001
-19.21447409 50.00678532 -1.94¢+000 | 4.26e+000
0.99876384 1.00405549 5.52e-005 7.87e-004
1.00039963 0.99904163 3.80e-005 -8.15¢-005
1.00007239 0.99983357 6.18e-006 -1.35e-005
1,00000798 0.99998973 -1.28¢-008 2.80e-008
1.00000812 .99998941 4.00e-014 -8.57e-014
1.00000812 0.99998941 -4.44e-016 -8.88e-016
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-1 3 0.00e+000 8.88e-016
-0.33266766 4.00452682 -1.66¢-001 1.67e-001
-0.1729%112 3.84370317 -1.13e-001 2.47¢-001
-19.20934583 49.99436008 -1.94¢+000 | 4.26e+000
0.99875712 1.00406193 5.53e-005 7.86e-004
1.00039125 0.99505317 3.79e-005 -8.15e-005
1.00006425 0.99984422 6.18¢-006 -1.35e-005
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¥5(0) y4(0) K b
0.99999988 | 1.00000030 | -1.28¢-008 | 2.79¢-008
1.00000001 | 099999998 | 3.91¢-014 | -8.62¢-014
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0.0 1.00000000 1.00000000 0.00e+000 1.00000000 0.00e+000
0.1 1.10517092 1.10517087 4.59¢-008 1.10517092 7.85e-011
0.2 1.22140276 1.22140272 3.96e-008 1.22140276 6.78e-011
0.3 1.34985881 1.34985881 -4.26¢-009 1.34985881 -4,26e-009
0.4 1.49182470 1.49182477 -7.06¢-008 1.49182470 -1.20e-010
0.5 1.64872127 1.64872141 -1.44e-007 1.64872127 -2.45¢-010
0.6 1.82211880 1.82211901 -2.07e-007 1.82211880 -3.53¢-010
0.7 2.01375271 2.01375295 -2.43e-007 2.01375271 -4.15¢-010
0.8 2.22554093 2.22554116 -2.33¢-007 2.22554093 -3.98¢-010
0.9 2.45960311 2.45960327 -1.59e-007 2.45960311 -2.72¢-010
1.0 2.71828183 2. 71828183 0.00¢+000 2. 71828183 8.88¢-016
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1 y,(0) ) <, B F 5

0 1 1.5 2 -2.9%e-014 1.20e-014 | -1.64¢-014

1| 491807828 0.04100267 3.29292015 4.19¢+001 | -2.34e+001 | 2.24e+001

2 1.66290765 1.85978101 1.54917172 4.73e+000 | -3.20e+000 | 2.75e+000

3 1.44946015 2.62085582 1.18725238 -4.34e-001 -5.08e-001 | -2.03¢-001

4 192916504 3.98344734 1.37279465 -6.38e+000 | 2.22e+000 | -3.58e+000

5| -21.40190476 | -25.19435926 | -15.22973283 | 7.08¢c+001 | -2.47¢+001 | 3.97e+001

6| 0.0000579%4 1.57090841 0.00003061 -3.02e-013 1.74¢-013 | -1.38e-013

7 1 0.00005794 1.57090841 0.00003061 1.13e-013 -6.19e-014 | 6.68¢-014
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1.00000000

1.60000000
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1.00000000

0.00e+000
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0.95105652

0.95106744

-1.09e-005
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~1.67e-009

0.6283

0.80901699

0.80903164

-1.46¢-005

0.80901700

-2.74¢-009

0.9425

(0.58778525

0.58779781

-1.26¢-005

0.58778526

-3.25¢-009

1.2566

0.30901699
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-6.15e-006
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-3.26e-009
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0.00000000

-0.00000293

2.93e-006
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h=0.314 h =0.0314
X y(x;)
yl'l en YII eI'I
2.8274 -0.95105652 | -0.95109002 3.35e-005 -0.95105652 1.10e-010
3.141¢6 -1 -1.00003278 3.28e-005 -1.00000000 3.34e-010
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h =0.05 h =0.01
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0.0 I 1 0.00e+000 1 0.00e+000

x y(x,)

0.1 1.01005017 1.01005031 1.45¢-007 1.01005017 2.00e-008

0.2 1.04081077 1.04081209 1.32e-006 1.04081083 5.56¢-008

0.3 1.09417428 1.09417941 5.12¢-006 1.09417450 2.13e-007

0.4 1.17351087 1.17352482 1.40e-005 1.17351145 5.75e-007

0.5 1.28402542 1.28405684 3.14e-005 1.28402670 1.29¢-006

0.6 1.4333294] 1.43339257 6.32¢-005 1.43333199 2.57e-006

0.7 1.63231622 1.63243415 1.18e-004 1.63232100 4.78e-006

0.8 1.89648088 1.89669066 2.10e-004 1.89648936 8.48c-006

0.9 2.24790799 2.24826939 3.61e-004 2.24792256 1.46¢-005

1.0 2.71828183 271889175 6.10e-004 2.71830637 2.45e-005
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h=0.1 h=0.05
X y(x,)
Yo €, Yo €,

0.0 1 1 0.00e+000 1 (.00e+000
0.1 1.010050t7 1.01005036 1.88e-007 1.01005014 -2.98e-008
0.2 | 1.04081077 1.04081167 8.94e-007 1.04081063 -1.43e-007
0.3 1.09417428 1.09417667 2.39¢-006 1.09417390 -3.81e-007
0.4 | 1.17351087 1.173515%4 5.07¢-006 1.17351007 -7.98e-007
0.5 | 1.28402542 1.28403492 9.50e-006 1.28402397 ~1.44¢-006
0.6 | 1.4333294] 1.43334600 1.66¢-005 1.43332706 -2.35¢-006
0.7 | 1.63231622 1.63234392 2.77c¢-005 1.63231271 -3.51e-006
0.8 | 1.89648088 1.89652595 4.51e-005 1.89647613 -4.75¢-006
0.9 | 2.24790799 | 2.24798018 7.22¢-005 2.24790232 -5.66¢-006

1 2.71828183 2.71839650 1.15¢-004 2.71827648 ~5.35¢-006
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¥ v = fscos(xzy(s))ds

y(x)=2x —la(sin(x")) +x*v
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h =0.05 h=0.01

X y(x,)

Yn c, Y €,

0.0 0 0 0.00e+000 0 0.00e+000
0.1 0.01 0.01000000 -2.48¢-016 0.01000000 -2.60e-017
0.2 0.04 0.04000000 -1.11e-012 0.04000000 -6.05e-014
0.3 0.09 0.09000000 -1.14e-010 0.05000000 -5.2%e-012
0.4 0.16 0.16000000 -2.86e-009 0.16000000 -1.26¢-010
0.5 0.25 0.24999997 -3.44e-008 0.23000000 -1.47e-009
0.6 0.36 0.35999974 -2.60e-007 0.35999969 -1.09e-008
0.7 0.49 0.48999857 -1.43¢-006 0.48999994 -5.93¢-008
0.8 0.64 0.63999382 -6.18e-006 0.63999975 -2.55e-007
0.9 0.81 0.80997789 -2,21e-005 0.80999909 -6.07e-007

1 1.00 0.99993321 -6.68e-005 0.99999727 -2.73e-006
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Aoulumusudu u(0)=1
d. 1 P X
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) yo) h=0.1 h=0.01
Y €, Yo €,

0.0 1 1 0.00e+000 1 0.00e+000
0.1 1.10517092 1.10517101 8.77e-008 1.10517092 -7.47¢-010
0.2 | 1.22140276 1.22140294 1.86e-007 1.22140276 -1.63¢-009
0.3 | 1.34985881 1.34985912 3.14e-007 1.34985880 -2.64¢-009
0.4 | 149182470 1.49182519 4.97e-007 1.49182469 -3.77¢-009
0.5 1.64872127 1.64872204 7.71e-007 1.64872127 -5.00e-009
0.6 | 1.82211880 1.82211999 1.1%9e-006 1.82211879 -6.29¢-009
0.7 | 2.01375271 2.01375454 1.83e-006 2.01375270 -7.58e-009
0.8 | 2.22554093 2.22554375 2.82e-006 2.22554092 -8.75e-009
0.9 | 2.45960311 2.45960743 4.32e-006 2.45960310 -9.62¢-009

1 271828183 2.71828841 6.58e-006 2.71828182 -9.91e-009






